F314 Linear Algebra: Quiz 3 September 15, 2017

Name: Consider the problem to solve for (x, y)
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1. Express this problem from the column perspective by filling in the blanks:
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2. Draw a diagram that expresses this problem from the row perspective.
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3. Find a vector n that is perpendicular to each of the columns of the matrix in this equation.
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4. All of the linear combinations of the columns of this matrix lie in a certain plane. What

plane is it? e
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5. Use n to show that this problem does not have a solution.
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